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2, PIECHHE FESE (S0 )

(1)14.58

3. R TEHSH
(1)9.3x4x0.25
=9.3x (4x0.25)

=9.3x1

9.3
(3)85.68+5.6-12.2
=15.3-12.2

3.1

4. BETHERE
(1) 7x+26.8=72.3

fi# . 7x+26.8-26.8=72.3-26.8

7x=45.5
x=6.5

20

2. (1)18.42 184

(2)8.75

(3)1.09

(2)5.1x3.14+4.86%5.1
=5.1x ( 3.14+4.86)
=5.1x8
=40.8

(4)92.4- (24.5%x0.6+23.3)

=92.4- (14.7+23.3)

=92.4-38
=54.4

(2)4(x3.2) =224
2.4 (x-3.2) +4=22.4+4
x-3.2=5.6
x-3.2+3.2=5.6+3.2
x=8.8

(2)2.6 2667



4. 04 25

5. (200-4a )=5 32

6. — LI+ s =
X3 ( LR+ TR ) xE+2
7. 15

8. 10
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1. 9.5x3+x=44

2. 4x-20=100
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f. BMETER

1. (2,2) (10,2)
2, W&

3. 16 32

4, 21



7. FRREE
1. %IRRT X 1] | $i)9 3.6x 1R,
3.6x-x=520
2.6x=520

x=200

3.6x=3.6x200=720 (# )
% : WARE 20018 , HNE 720 18,
2, % IRFBMERE x RAJLATZRIESS .

(35+25 ) x=900
60x-+-60=900+60
x=15

% FIBMERE 15 KaJLATSRYES.
3. EREERE—AN 15T, HF—_EH 30 7.
15x4+30%2=120 ( 75 )
& | =R 120 TR,
4, SHUERR
FE=1.5+1.5+7=10
BAZERR= ( 10+20 ) x10+2=150 ( 752K )
TGO ERR=6x7=42 ( F5K )
SIEIRR=150-42=108 ( FF52K )
& IR HIEARE 108 5K,
5. 50x0.52+ ( 80-50 ) x0.62=44.6 ( T )

% . bR LB MNAcEEZE 44.6 JT.



